Mt LT AR (G)BERTT(THH) L80 ?}] IZJ ‘d«&

5 4 hi
HEHWEF(—)

072 48 52 72 09 3 0.69 325

88 4180 0.32 335 624 32 75

— 5 56 521 155 46 5 186 97 Z 864 325 225 1890 57312 1.75
2463 191 141 9 1 08 622 4.27 145
84904 58 004 085 1400 700 =805 453 236 1781 3294 11.95
206 3.6 027 05 45 624 10 0.7 504 0.876 252(%Xw%)
10 M.120 25 16 0399 56 1
T< < = > > = < < FHox=11 x=100 x=8 x=40 x=30 x=7
=.1575 2736 58.62 4732 2.55 78N.1.40° 2.40° 3.35°
28.27 3.5405 0.1568 15.336( %X ) % 6 IR
m.240 0.15 37 776.69 33 9 SFHMETF(Z)
Ha=10 x=6 x=1 x=29 x=7 x=9 — 48 67 029 1184 20 01 13
N L £C0=69° 2. LA=40° 568 902 21 0 657 15 175
3. £6=30° 4. LA=25° 096 078 056 035 054 10.8
58 5 hiX 1525 081 054 0036 57 24
HFEHEEF (D) 10.16
— .11 53 099 624 325 375 18 Z.9.04 4974 86272 0.63 434 1.728
11.7 420 056 02 0.1 5 12 20 1.192  4.301 30.315(% X&)

F1R



=.12.69 13 87.87 55 48 460 : 1

10. 100 1000
M x=23 x=3 x=2 x=9 x=7 x=30
11. (1)1.6 32
Fi 1. 44452=312 x=65
(2)27.5 20
2.52-x=17 «x=35
12. 30

3. 49-26=326 x=88
—1L.X 2.X 3.V 4 X

4. 2x+x+12=132 x=40 _
=LA 2.C 3.C 4C 5B 6.A

£ 11 .12 i

M.1.10 79 20 3.6 51 037 2564

“BEREZFIEM

04 7.95
—.1.0.01 3025 2.1128 9.6 342(%Xw4)
2. 155 1 01 T4 6 0001 3.324 84 2896 100
3.< > < = 4. x=9 x=8 x=1
4.0.91 0.89 0.009 F 1. 1.35+0.5-0.05=1.8CK)
5. 650.01 2. 50x40x3.16=6320(JC)
6.9.18 3. (1)2.55+0.8=3.35(JL)
7. RN =0 B W H 5 x30-11 7T (2)2.2+6.5=8.7(JC) 8.7<10, %
30x-11=79 (3)3x2.55+38.5=46.15(JC)
8.217.6 2.176 217.6 0.2176 5%0.8+12.5=16.5(JG)
9. (1)90.95 46.15+16.5=62.65(JC)
(2)30.95 5 100-62.65=37.35(JC)




4, BRI TR« TK
8x+20=580 f#15:x=70
5. 110-20x2.5=60( Tk )
60+15=4(TK)
8 4=E24
(2.8+0.8-0.5)x2=6.2(JC)
(6.240.5)x2=13.4(JC)
58 15,16 hR
“BR5 LT it & FEN
—.1.89 Hiff
2.7 9

3.0 FREME MIFLCR(EERRRE—)

4.135

515 15 6

6. (1)/\ 325
(2)— N
(3)7"H LA NH
(4)@

7.0 @

—.1.C 2.B 3.B 4.C 5.C

=1.X 2.V 3.X 4. X 5 X

M. 1. (1)2£A=180°-90°-52°=38°

(2) £ A=180°-40°-(180°-135°)=95°

2. /.3=180°-110°-(90°-50°)=30°

ﬁ\m%

75 1. 9x4=36(JEK )  (36-14)+2=11(JFHK)

2. (1)m%

(2)7% —

(3)(28+32+30+35+45+59+51 ) ~7=40(%#)

3. D6 JHK,8 JH K, 12 JHK

@8 JEK, 12 JHK, 16 JEK

@3 JHk, 6 JHk, 8 kK

@6 JEA, 12 JHK, 16 JEK

4. £/ 1=180°=(3+5+1)=20°

£.2=20°x3=60°

£.3=20°x5=100°

74 4=F24

(94x2+96x2+92x2 )+2+3=94(/7")




£ 17 18 i
SHEINESR

1

. 100 1000

2.91 4liff

3.205 1 12 3.5 4020
4.0.01 70
5. 10
6. (1@
2)D3 @@

(3) DB

7.3.04 18.24
8. 5a Sa+b
9.93 97

10. 7

—1LX 2V 3.X 4X 5V

=..B 2.C 3.C 4A 5B 6.A 7.C

M.1.7.6 108 0.9 048 20.1
0.87
2.19.63 26.14 15200 81.7 295
8.01( ¥ X&)

9.03 54

—.1. 0.075

.1

.22 6.34

18 3460 57.42 25.6

.x=9.2 x=42 x=54

36.8-4.2=32.6(F7%)

36.8+2.6=39.4(F7¢)

36.8+32.6+39.4=108.8(T7%)

NHYIEE 30 K

0.25x30=7.5(1f) 7.5 Mfi=7500 T %

. (30.80+19.20 )x4=200(JC)

MW 200 G

. TR 25 R RIE R =5.4 TK

BRI « Tk

1.442x=5.4 fi#15:x=2

5. FEFE3K 1 60x2=120(JC)

2. 0.58

FEHK : 24%2x2.6=124.8(J0)
124.8-120=4.8(JC)
58 23,24 hR
SZEBENEFF(—)

457N %

1.18




éﬁli:ltﬂﬂﬁjclﬂlﬁéﬁ(a)gggjﬂ:igﬂ) :@): ?}] IZJ ﬁ«&r

3. 570+(100-62)x12=180 : 2. (1)
4. (700=b )+a : (2) (1724162 +147+145+171+169) +6 =
5. R TR 10460 =78 JI A i i : 161(4)
6.40 85 75.1. 3.9dm=0.39m 16cm=0.16m
1.36+0.39-0.16=1.59(K)
T.< > = <
2. 95%x(122+78)=19000(JC)
8. 50
3. WAL A « M
9.4 11
3x—1500=2400
10. 1

x=1300
—1LX 2.X 3V 4X 5V
4. 284+11=295( )

=.1.C 2.B 3.A 4.A 5B
295:45=6(4 )+ 25(N)

M.1.091 675 372 1024 12 0.084 ‘
M6 R4, 1 WirhEimE k.

0.036 9.6 1.006 .
800x6+600=5400(JC)

n&;‘
2.2239 17.87 15.336(:X%) 5. (137432x5)+(4+5)=33(4)

3.20.24 327.24 9.75 10000 % 25 26 I
4.x=526 x=2 «x=8 L & RETIRTE ()
5. (1)3x+120=270 x=50 —.1.9 001 9 0.1
(2)4x—x=180 x=60 2.6.4012 M
51 3 meos RHERACE B EAN




4.12.696 12.696 460 4.6 : PRIl 2, B e BB, % A R A7 i K

5.108 36 BHRER I (B F L2 T)
6.= < > = 7N\ 1. 1.47+0.35+0.35=2.17(FK)
7.5 2. 1800x0.03=54(JC) 54x365=19710(JC)
8.10 4 3. 1.2x(40+6+1-2)+10=64(J0)
9.5 6 4. W— D NBRIVIZA x B
10. 97 2x-2=10
ZOX 20X 33X 4V 5X x=6
=.1.A 2.C 3.B 4B 5 A 5. 85—25:260x0.2=52(JC)
M.1.35 7.36 091 123 0.01 0.81 55 —25:30+(260-60)x0.1=50(JG )
120 0.7 50 52>50, P s R,
2.95756 49.74 3.45(EXek) % 27,28 hit
3.32 23.77 9000 2700 ZRENEF(Z)
4.x=6 x=5 =19 —.L. T4 9 0.001
T, 1M 2.78 4.8
2. (1)m% 3.= > < =
(2)4 4. 16.2n+5m
(3) B il bn I [R]F 4L I R, 202 5.110 %l
B2k KR, 35 iR 4T~ 15 B = 1A 6. 0.18

F6W



éﬁli:ltﬂﬂﬁjclﬂlﬁéﬁ(a)gggjﬂ:igﬂ) :@): ?}] IZJ ﬁ:

7.4 12 | WRREFZ EAAMT « WK,
3 34 | 16+(x-20)x2=54  fi#t45 : x=39
9.6 | 5.(1)6
10.18 27 (2)39.5 5H 6 H 6:00~12:00
_ (3)37.1
—1.A 2B 3A 4C 5B 6.8B
(4) MR JEAE I
=.1.435 12 03 008 07 4 12 5
£ 29,30 hit
2.49.23 43.66 3.57(% X&)
ZEBENRERFA (M)
3.24.84 65 110
—.1.3.26 6800
4, x=90 x=6 x=5
2.37
7 g
3. 1.49 3% 1.50
H 1.50-12.8-17.8=19.4(JC)
4.2y  x+4y

Bl bt 1
5. %40 &k

2. (240+360+410+190)+-30=40(k)
6. 3540 0.0354

3. 30-6.5x3=10.5F k)

7.18
4. 15x0.6+(20-15)x1.4=16(JC) ; 8. 7( %% RoE—)
16<54, UK EAH AR T 9. 20
20 M, é 10. n+1




—.1.B 2.B 3.B 4A 5C 6.C 7.A 3. WIS : 6x2.50+3%3.50=25.50(JT)

=.1.277 703 9.541(%Xek) 5 #%:50-25.50=24.50078)

4. WX EI T « Ko
2.0.065 58 7.3

2+10=24 B4  x=7
3.x=14 x=6 x=6

5. (10-3)x2.5=17.5(JC)

EHsl.ffg%H | f{;}h é 8+17.5-3.05=22.45(JC)

(%% Fof—) § % 31
R
2. (1) s

1. 22— —> =
(2) Tt 2020~2021

2. B A E] B TR B R, /DB 5 MU
(3)100 IEH .M 2017 45| 2021 4F,
3. (347)+2=5(A)

T R AR R B K IR B
4+(7-5)=2()

R A, B AT 2022 A4 45k 4 TR T

HEHSIAT 100 T (ZXE KRR

—)

. 1. (1)1.55-0.55=1(F>K)
5. —ZIBhJE 15 54

(2)1.55+40.55+2.15=4.25(F>K) (30-15)=15x30=30( F % )

2. 2.1x0.8=1.68 ¥ 1K) é 30+30=60( F %)

1.68x2x650=2184( 7¢.) : 6. 10x(100x100)=100000( cm?)




